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POLITICAL SCIENCE
( Major )

Paper ; 3.2

( Public Administration )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :

1x10=10
woro il 2pepyRd eI Ted fea

(a) Public Administration as a discipline
originated in UK/USA/India.

(Choose the correct answer)

TEEe (A9 RO @EeiPTe wesa ke
OZTS /S TSHTS /B[S |
(= Teo! IR Sferedn)
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(b)

(©

8A/47

(2)

Who is the editor of the book, Toward

a New Public Administration :@ The

Minnowbrook Perspective (1971)?
(Ferrel Heady/Frank Marini/Charles
T. Goodsell)

(Choose the correct answer)

Toward a New Public Administration :
The Minnowbrook Perspective (1971)
SRR G A1 SRR 2
(Ferrel Heady/Frank Marini/Charles
T. Goodsell)

(7 TSICo1 MR Tfeyeay)

Which of the following names is
associated with the concept of ‘New
Public Management’?
(Woodrow Wilson/L. D. White/
Christopher Hood)

(Choose the correct answer)
wore TeEd 91 CIRIPIE 9 New Public
Management’§ 449 ¥15S gfe 2

(Woodrow Wilson/L. D. White 77
Christopher Hood)

(9% T&Ch! AR Sereay)

( Continued )

(3)

(d) Which of the following concepts is not

(e)

8A/47

_associated with Scientific Management

Theory?
(Time and Motion Study/Functional
Foremanship/Rule of Thumb)

(Choose the correct answer)

©e (FIC0] R RS I ©OGT 7'CO
TS 72 ?
(Time and Motion Study/Functional
Foremanship/Rule of Thumb)

(o= TeCH! AR Sfepea)

Who is the author of the book, The
Political Problems of an Industrial
Civilization? ]

The Political Problems of an Industrial
Civilization 2®3={ eI (P19 ?

Which of the following books is written
by Max Weber?
(The Theory of Social and Economic
Organization/ The Functions of the
Executive/ Administrative Behaviour)

(Choose the correct answer)
Oofd (P G SN 041 91 3% ?

(The Theory of Social and Economic
Organization/ The Functions of the
Executive/ Administrative Behaviour)

(9% TeICo! R Sfersan)
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(4) (5)

(g) Write a principal disadvantage of the 2. Answer the following questions : 2x5=10
principle of hierarchy. GO 2PCAINS Bed ferdl
O3 01 T <Y SALE (@) Write any two features of New Public
(h) “Coordination is the orderly arrangement Foabratler STEREUAE.
of group effort to provide unity of action T CTREPTPT R GIeett 81 Caies fors o

in the pursuit of a common purpose.” It

Writ t its of izati
was stated by J. D. Mooney/L. D. White/ ) Gy RS Sl alization

M. P. Follet. 5 EEFIR R @I 101 @7 Seae w47 |
(Choose the correct answer) (c) What is span of control?
“Coordination is the orderly arrange- formes RRE 2
ment of group effort to provide unity e L
R : rite any 0 basic features of
ol¥ection in ;h S §pursu1t of & CCLJImmon Independent Regulatory Commission.
purpose.” ¢ IFE  ClRE P
. Toz MEEe SIAE R e
Mooney/L. D. White/M. P. Follet | 2 T 1 GRE

(5 TeCol MR Sferean) ;
(e) Define Public Administration.

(i) The co.ncfept of ‘Inde?end.ent Regulatory GRS RS SISKCEHET |
Commission’ took birth in the country

(Fill in the blank) 3. Answer in brief (any foun : 5x4=20
, oy Tes frn (R ceen oiikey)
“yor fUEe ST (RIS &1 W ——
™ | (a) Write the merits of Human Relations
(18 512 sfaet 1) FRea
AT TR OGq PR o |
() Write a major difference between Public : '
Corporation and Department. b) Explain  the  scope of o
p Publ
R Few e RenE T @) 335 el Administration.
ekl IR TP 1314 313y <y |

8A/47 ( Continued ) 8A/4T ( Turn Over )



(©

(d)

(e)

Answer the following questions :

(6)

Explain the concept of New Public
Management.

T (I -IREICFE LK 101 K4 |

Explain the major principles of
Bureaucratic Theory of Public
Administration.

CIRLPIPFR  SAEofEE ©Ed T Ao
T 4T |

Explain the importance of public
corporations.

BIFIRL RSN @3F 00 40 |

Discuss the limitations of delegation.
SHI*R SRSl SCEAs 341 |

O EPICIRT Teq o

(@) Why is Woodrow Wilson regarded as the

8A/47

father of Public Administration? Explain
the evolution of Public Administration

as a field of study. 3+7=10

o7 Sw’ Cxemoee ERerIRR SR AT 9

R? Gy [§w o ceeHrm [Rem
W= 47 |

( Continued )

10x4=40

(b)

o

(©

8A/47

(7))

Or/ 71241

What is good governance? What are its
main features? Discuss the importance
of accountability in public administra-
tion. 3+4+3=10

F-Pe 7 WR Yo @rFErR O
CTREPIPTTS THIRON BPY SICeAb] 3 |

Discuss the Scientific Management
Theory of Administration. What are its

drawbacks? 6+4=10
PR (IRF IRFIF ©GCHl SCeroal Pl |
E FCTHR & 2

Or / =331

What do you mean by Line Agencies?
What are the features of Line Agencies?
What are the different types of Line
Agencies? Discuss. 3+3+4=10

AR e e B oem? FRAR M3

ez ¢ [0 [iva oo SRR o
& 13 2 Sceoa 541 |

What are the different types of Chief
Executive? Discuss the administrative
functions of the Chief Executive as
general manager. 4+6=10
T IR [fen evromz & fo gam

1o RO I3 IR ey SR
SIS 1 |
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(8)

Or / 7337
What is Department? Discuss the bases
of departmental organization. 4+6=10
ol 57 Ry e ez e
<97

(d) What is Supervision? Discuss the

methods of supervision. 4+6=10
R 8 2 TR ooz e 4

Or / 723y

What is coordination in Public
Administration? What are its types?
Discuss the principles of coordination.

3+2+5=10
CTIFELPINS T {9 T 2R [ 62
S MR et 547 |
* % ok
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